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x 05
<
gO 45
>
o 04
c
Q
5 0.35f e -
%
0.3
025 e
0.2f}
0.15f-|f -+
0.2+
0.05f-+
o J..UG _'|_
= —a— -phasel-newgeom
© —e— DQM_mkFit_step2_tthar-phasel-newgeom
o —_— D M ang{le steé)z ttbar-phasel-newgeom
M_fa: s‘fep jt'bar phasel- newgeom
E II”'”I ll; I jll
L
10°® 1072 107

1
TP min AR

[ Efficiency vs dr (track,jet) |
5
a’0.09
)
[
<l0.08
20.07
>
20.06)
2
(8]
E0.05
3]
0.04
0.03
0.02

0.0

[y

107 1072 107
AR(TP, jet)

0.2

...........................

0 40 60 80 100 120 140
Pileup



	Contents
	Page 1


